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The figures in the margin indicate full marks
for the questions,

Answer Question No. 1 and any Six from the rest.
1. Answer the following: (Fill in the blanks) :
_ S (10x 1=10)

(1) Petrol Engine Works on’
cycle

(i) The range of compression ratio for Diesel
engine is

(i) The air fuel ratio for petrol engine is

(tv) Compression ratio is - the ratio between
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(v) Volumetric efficiency is the
~ of the engine.

(vi) In a four stroke engine, there is a onc pﬂ*’%
stroke in revolution of the
crankshaft. I

(vii) The firing order of a 6-cylinder engine is

(viii) The full form of MPFI is : -

(ix) The color of the light of the brake indicator is ig i (e)
, T | g
(x) = The function of a carburetor ——————4 8 ’

2. (@) Explain briefly the main components @6f

lubricating system for an IC engine. - (@)
(b) Explain the working of the radiator along w1§h
- a schematic diagram. {h)

- (¢) Write down the major components and systetis
of an automobile. (5+5+6=1

Why starting system is required in automobile? 7'
Explain the working prmmple of battery
" ignition system. -3

3. (@ ‘

Steerigg .

(b) Explain Dbriefly the Ackerman ;
' mechanism. (10+5=18) S
4. (a) Explain the working principle of the gear box.

Explain the function of a universal joint in

automobile.
(b) Explain the mechanism  of ‘
transmission. (8+2+5=14
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What is the function of Propeller shaft?

Classify the different typés_ of front and rear

axles. (6+10=15)

[ixplain the working principle of a cone clutch.

[ixplain the working principle of differential

Aystem.

What is difference between conventional

suspension and independent suspension?
(5+5+5=15)

Compare the Hydraulic braking with

mechanical braking system.

What are the different resistances related to

automobile?

[ixplain the variation of Torque with respect to

apeed for an automobile ) (5+5+5=15)

J*A gix cylinder, four stroke gasoline engine having a
~ bore of 90 mm and stroke of 100mm has a
gompression ratio 8.  The relative efficiency is 55%

when the indicated specific fuel consumption is

1 ) indicated Thermal Efficiency (c) Calorific value

>’ igéir:ﬂted power (e) Fuel consumption.

(8+3+3+3+3=15)
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9. Write short_ notes (Any three)
(a) ‘Davis Steering Mechanism
(b)  Stopping distance
(¢) Multi-point Injection System
(d) Tractive effort
(€) - Rolling Resistance. . - . (5+5+5=15)
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